
PACK P/M

1 Top Panel (916 x 356 x 33mm) T505-742 R48399 Wood 1 K M

2 Bottom Panel 851 x 322 x 15mm) T505-742 R48400 Wood 1 K M

3 Front Frame T505-742 R48401 Wood 1 K M

4 Door #1 (693 x 372 x 21mm) T505-742 R48402 Wood 1 K M

5 Door #2 (693 x 372 x 21mm) T505-742 R48403 Wood 1 K M

6 Knob(W/Bolt 5/32in x 25mm) T505-742 R48375 Wood 2 G P

7 Door hinge (w/Screws 3.5 x 15mm) T505-742 R50500 Metal 2 G P

8 Frame hinge (w/Screws  3.5 x 15mm) T505-742 R50503 Metal 6 G P

9 Door Catch(L+F) (w/Screws  3.5 x 15mm) T505-742 R48404 Metal+Plastic 2 G P

10 Roller Door Catch(L+F) (w/Screws  3.5 x 15mm) T505-742 R48360 Metal+Plastic 2 G P

11 Adjustable Shelf (844 x 271 x 18mm) T505-742 R48405 Wood 1 K M

12 Back Panel (863 x 742 x 5mm) T505-742 R48406 Wood 1 K M

13 Shelf Support (W/Foam) T505-742 R40283 Metal + Felt 4 G P

14 Insert(1/4in x 25mm) T505-742  R46456         Metal 4 G P

15 Insert(1/4in x 12mm) T505-742 R37002 Metal 5 G P

16 T-Nut (1/4in x 12mm) T505-742 R48363 Metal 8 G P

17 Leveler T505-742 R46451 Plastic 2 G P

18 Hardware Pack T505-742 R48407

1/4inx 70mm Allen Bolt(4)

1/4inx 38mm Allen Bolt(5)

1/4inx 32mm Allen Bolt(6)

1/4in Lock Washer(15)

1/4in Flat Washer(15)

4mm Allen Wrench(1)

1 G P

19 Tipping Restraint Pack T505-742 R15074

Mounting Bracket (2)

4mm x 5/8in screw (1)

4mm x 2in screw (1)

Plastic Tie (1)

1 G P

20 Left Side Panel (779 x 273 x  64mm) T505-742 R48408 Wood 1 K M

21 Right Side Panel  (779 x 273 x  64mm) T505-742 R48409 Wood 1 K M

22 Bun Foot (131 x 54 x 54mm) T505-742 R48410 Wood 4 K M

23 Glass Door (580 x 259x 5mm) T505-742 R48411 Tempered Glass 2 A P

24 Glass Retainer Molding/LF T505-742 R48383 Plastic 23 G P

FACTORY USE ONLY!!

PART# DESCRIPTION USED ON:

SIGNATURE DESIGN BY ASHLEY® Page 1 Of 2

MATERIAL

REPLACEMENT PART DESCRIPTION FORM
MODEL #: T505-742

REPLACEMENT PART DESCRIPTION FORM

MRP#

MODEL #: T505-742

QTY.

July 12nd, 2016All Rights Reserved.



SIGNATURE DESIGN BY ASHLEY® All Rights Reserved. July 12nd, 2016 Page 2 Of 2

6

1

4

5

9

2

3

11

12

13

8

7

10

20
21

18

19

22

23

17

14,15 16

24


